9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

9 10 11 15 9 8
14 3 11 17
13 12 12 16 15
11 12 7
13 14
= =
9 17 i11 7
10 15 | 14
= = = =
10 12 i9 9 9
= - - =
1 14 i i16
17T 16 5 17 15
11 H 9
6 10 9 17 16 11 10
10 15
9 9 13 7 7 14
17
7 21 3 16 10 10 10 g
13
16T 10 10
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

7121916 |3 |84 /|51
816 1|54 23 9]7
4 13 /51719116 |82
O1/8 713|162 45
6 (1 412|759 |38
2 (5131984716
3 (716115982 |4
119 8142|7563
5141218163179
71641132589
91287145136
5011316897412
114 5137|6928
6 |3 (71912 |8|4|5]|1
8191214 |5|1(3|6|7
4 171112163895
31816597 2]1/4
215/9|181]416|7|3
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